PFI
FERSA

AUTOMOTIVE

\Motorcycle Bearings
Rodamientos Para Moto

AMERICAN ENGINEERING INSIDE

pfibearings.com



AUTOMOTIVE

2

pfibearings.com

About us

PFI Bearings is a leading North American manufacturer
of precision bearings based in Ohio, USA, and for more
than 30 years has been supporting the automotive
industry delivering quality products to remanufacturers
and aftermarket customers worldwide. With state-of-
the-art manufacturing plants and American know-how,
PFl Bearings produces high-performance motorcycle
bearings that meet the highest quality standards and OE
design specifications.

At PFl Bearings, we prioritize quality in every step of our
manufacturing process, using advanced technologies and
selecting the finest components and materials to ensure
our bearings are of the highest quality to deliver optimal
performance and reliability.

This dedication has earned us a reputation as a trusted
partner in the global automotive aftermarket and
remanufacturing industries.

Sobre nosotros

PFI Bearings es un fabricante norteamericano de
rodamientos con sede en Ohio, EE.UU. Cuenta con méas
de 30 afos de experiencia apoyando a la industria del
automovil con productos de calidad y clientes en todo
el mundo.

Conplantasde fabricacién de ultima generaciony know-
how americano, PFI Bearings produce rodamientos de
alto rendimiento para motos, que cumplen con los mas
altos estandares de calidad y las especificaciones de
disefio de los equipos originales.

En PFI Bearings, damos prioridad a la calidad en cada
paso de nuestro proceso de fabricacion, utilizando
tecnologias avanzadas y seleccionando los mejores
materiales para garantizar rodamientos de calidad, para
ofrecer un rendimiento y una fiabilidad 6ptimos.

Esta dedicacidn nos ha hecho ganar una excelente
reputacién como socio de confianza en las industrias de

la automociony la remanufactura.




4

pfibearings.com

PFI
FERSA

AUTOMOTIVE

Motorcycle Solutions

Expanding horizons in
the motorcycle Industry

In the past decade, the demand for motorcycles and
scooters has experienced a significant upsurge, driven by
their ability to provide freedom of movement in congested
urban environments as well as low environmental impact,
and convenient parking options.

At PFl we understand the evolving needs of motorcycle
manufacturers and riders. We are proud to offer a
comprehensive range of high-quality bearing solutions
designed specifically for motorcycles. Our bearings are
engineered to deliver exceptional performance, reliability,
and durability, ensuring smooth operation and enhanced
riding experiences. With our commitment to quality and
innovation, we aim to support the thriving motorcycle
market and contribute to the advancement of eco-friendly
transportation solutions.

Glosary

PFl part number
Application
Side
Year
Quantity
Notes
ID
oD
W

Soluciones Para
Motocicletas

Ampliamos horizontes en el
sector de las motocicletas

En la Ultima década, la demanda de motocicletas y
scooters ha experimentado un importante repunte,
impulsada por su capacidad para proporcionar libertad
de movimiento en entornos urbanos congestionados, su
bajo impacto medioambiental y sus cémodas opciones
de aparcamiento.

En PFI comprendemos la evolucion de las necesidades
de los fabricantes de motocicletas y motoristas. Estamos
orgullosos de ofrecer una amplia gama de soluciones de
rodamientos de alta calidad, disefiados especificamente
para motocicletas. Nuestros rodamientos estan
disefiados para ofrecer un rendimiento, una fiabilidad
y una durabilidad excepcionales, garantizando un
funcionamiento sin problemas y una mejor experiencia
de conduccion. Con nuestro compromiso con la calidad
y la innovacion, pretendemos apoyar el floreciente
mercado de las motocicletas y contribuir al avance de
soluciones de transporte respetuosas con el medio
ambiente.

Glosario

Referencia PFI

Aplicacion

Posicion

AfRo

Cantidad

Notas

ID (mm) didmetro interior
OD(mm) didmetro exterior

W(mm) altura



Index / Indice

. Honda
POP 100
C100BIZ
POP 110i
C10iBIZ
C125BIzZ
XL125

CG125TITAN /NXR 125 BROS /
NXR 150 BROS

CRF150F

CG150TITAN /CG 150 FAN/
NXR 150 BROS

PCX150

CG 160 TITAN / CG 160 FAN /
NX R 160 BROS / CG 160 START

XRE190

CBX 200 STRADA
XRF 230F

CRF 230F

O O o 0 @

10

10
1"

12
12

12
13
13
13
14

XLX250R

CBX250 TWISTER/
XR 250 TORNADO

CB300R
XLX350R

XRE 300

NX4 FALCON 400
CB 500X

2. Yamaha

TIN5 E-CRYPTON
TIN5 NEO

YBR 125 / XTZ 125
TTR125

TTR 230

YS250 FAZER - XTZ 250 LANDER/

XTZ 250 TENERE 250
MTO3 320

XT 600
XJ6 N 600

3. Suzuki

RM 80

ADDRESS V100
GN125INTRUDER
YES 125
INTRUDER 250
DRZ 400E
AN400 BURGMAN
GS 500E

GSX 650F

GSX 750F

VZ 800
GSXR1000
N1200 BANDIT

20
20

21
21
21
21
22
22
22
22
22
22
23
23
23

LC 1500 INTRUDER
VZR 1800 INTRUDER
AGILITY 200i
DOWNTOWN 3001
PEOPLE 3001

NEX 110

LINDY 125
CHOPPER ROAD

4. Kawasaki

SCOOTER J125
LX140 CROSSOVER
EX300 NINJA
ER300

LE300

ER 650 NINJA
VULCAN EN 650

23
23
24

24
24
24
25
25

26
26
26
26
26
27
27



Honda

POP 100
PFI P/N Application/ Side/ Year/ Afio Notes/

Aplicacién Posicion Observaciones

6902-2RSC3  Motor Right/Dcha 2006 - 2015 5 28 7
6905-2RS C3 Motor Left/lzq 2006 -2015 25 42 9
6200-2RSC3  Clutch/Embrague ~ Left/lzq 2006 - 2015 10 30 9
6304 C3 Motor bt 2006 - 2015 20 52 15
6001-2RSC3  Jransmission ) oft/lzq  2006-2015 2 28 8
6203 Transmission  Right/Dcha 2006 - 2015 17 40 12
6201C3 Transmission  Right/Dcha 2006 - 2015 2 32 10
6203 Transmission | eft/lzq 2006 -2015 7 40 12
6201-2RSCO  Wheel [Rueda  ra/bern 2006 - 2015 Lacedwheels 15 32 10
6301-2RSC3  Wheel /Rueda Left/lzq 2006 -2015 Ring gear/ 2 37 12

C100 BIZ

POP 110i

PFI P/N

Application/

Aplicacion

Side/
Posicion

Year/ Afio

Notes/
Observaciones

6000-2RSCO  Clutch/Embrague  Left/lzq  1998-2005 10 26 8
6304 C3 Motor o beett 1998-2005 20 52 15
6001-2RSC3  Motor 12 28 8
6001-2RSC3  Jransmission | oft/lq  1998-2005 2 28 8
6203 Transmission  Right/Dcha  1998-2005 7 40 12
6201C3 Transmission  Right/Dcha  1998-2005 12 32 10
6203 Transmission | eft/lzq  1998-2005 7 40 12
6301-2RSC3  Wheel [Rueda pafbepa’  1998-2005 2 37 12
6203-2RSC3  Wheel /Rueda Left/lzq  1998-2005 Ring gear/ 17 40 12
PFI P/N Application/ Side/ Year/ Afio Notes/
Aplicacién Posicion Observaciones

6200-2RSC3  Clutch/Embrague  Left/lzq 1 10 30 9
63/22 XA4J1 Motor Right/Dcha 1 22 56 16
63/22 XA4J1 Motor Left/lzq 1 22 56 16
6201-2RSCO  Wheel /Rueda  afbers’ 2 2 32 10
6301-2RSC3  Wheel /Rueda  Left/lzq 1 12 37 12
6203-2RSCO  Wheel /Rueda  Right/Dcha 1 17 40 12
6200-2RSC3  Clutch/Embrague 1 10 30 9
6001-2RSC3  Jransmission 1 12 28 8

Transmision

8 pfibearings.com

CM10iBIZ

PFI P/N

Application/
Aplicacién

Side/
Posicion

Year/ Afio

Quantity/
Cantidad

Notes/
Observaciones

PFI
FERSA

AUTOMOTIVE

6200-2RS C3 Clutch/Embrague  Left/Izq 1 10 30 @9
6201-2RSCO  Wheel /Rueda  aa/bers 2 2 32 10
6301-2RSC3  Wheel /Rueda  Left/lzq 1 2 37 12
6203-2RSCO  Wheel /Rueda  Left/lzq 1 7 40 12
6201C3 Transmission 1 2 32 10
6203 Tranemisor 2 1740 12
6001-2RSC3  Jransmission 1 2 28 8
C125BIZ
PFI P/N Application/ Side/ Year/ Afio Quantity/  Notes/
Aplicacién Posicion Cantidad  Observaciones
PGDF11334207  Motor Right/Dcha 2004 1 Tonehoe s 30 58 1617
PGDF11334207  Motor Right/Dcha 2004 1 e 30 58 1417
PGDF11334207  Motor Right/Dcha 2004 1 st 30 58 1417
6001-2RSC3  Motor Right/Dcha  =>2006 1 12 28 8
6001-2RSC3  Motor Right/Dcha  =>2018 1 12 28 8
6804-2RSC3  Clutch/Embrague Left/lzq  =>2006 1 20 32 7
63/22 XA4J1 Motor Left/lzq  2006-2016 1 22 56 16
63/22 XA4J1 Motor Right/Dcha 2006 -2016 1 22 56 16
63/22 XA4J1 Motor Left/lzq  =>2016 1 22 56 16
63/22 XA4J1 Motor Right/Dcha  =>2016 1 22 56 16
6200-2RSC3  Clutch/Embrague 1 10 30 9
6001-2RSC3  Jramsmission ) oft/jzq  =>2006 1 2 28 8
6203 Transmission  Right/Dcha => 2006 1 17 40 12
6202-2RSCO  Jransmission  pight/Deha => 2006 1 15 35 11
6203 Transmission | eft/lzq  =>2006 1 17 40 12
6301-2RSC3  Wheel /Rueda ajbets’  =>2006 1 2 37 12
6203-2RSC3  Wheel/Rueda Left/lzq  =>2006 1 17 40 12

XL125

PFI P/N

Application/

Aplicacion

Transmission

Side/
Posicion

Year/ Afio

Quantity/
Cantidad

Notes/
Observaciones

6006-2RSC3  Jransmissiol 1984-1995 1 30 55 13
6204 CO Transmission En;%cr?ngj?é/e 1984-1995 1 20 47 14
6202-2RSCO  Jransmission 1984-1995 1 15 35 11
6202-2RSCO  Jransmission 1997-2000 1 15 35 11
63/28-2RSC3  Motor Right/Dcha 1997 - 2000 1 28 68 18
63/28-2RSC3  Motor Left/lzq  1997-2000 1 28 68 18

pfibearings.com



CRF150F

PFI
FERSA

AUTOMOTIVE

Honda
XL125
PFI P/N Application/ Side/ Year/ Afio Quantity/  Notes/
Aplicacién Posicion Cantidad  Observaciones
6001-2RS C3 Clutch/Embrague 1984-1995 1 12 28 8
6301-2RS C3 Wheel / Rueda 1984 —-1995 2 12 37 12
6302-2RS CO Wheel / Rueda 1984 1995 1 15 42 13
6203-2RS C3 Wheel / Rueda 1997 -2000 1 17 40 12
6303-2RS C3 Wheel / Rueda 1997-2000 1 17 47 14
CG125TITAN/

NXR 125 BROS / NXR 150 BROS

PFI P/N

Application/

Aplicacion

Side/
Posicion

Quantity/
Cantidad

Notes/
Observaciones

Titan and Bros

PFI P/N Application/ Year/ Afio Quantity/  Notes/

Aplicacion Cantidad Observaciones
6003 C3 Cluteh/Embrague 1 7 35 10
6201-2RS CO Jransmission 1 2 32 10
6203 C3 Iransmission 1 17 40 12
6204 CO Jransmission 1 20 47 14
6202-2RS CO Wheel / Rueda 2 15 35 11
6203-2RS C3 Wheel / Rueda 1 7 40 12
6303-2RS C3 Wheel / Rueda 1 17 47 14
35BCO7558 Wheel / Rueda 1 35 72 15/185

PFI P/N

Application/

Aplicacién

Side/
Posicion

CG150 TITAN /CG 150 FAN / NXR 150 BROS

Year/ Afio

Quantity/
Cantidad

Notes/

Observaciones

Titan and Bros

6001-2RS C3 Clutch/Embrague  Right/Dcha =>1985 1 Titan y Bros 12 28 8
6003C3 Clutch/Embrague 1 Titan 17 35 10
63/28-2RSC3  Motor Right/Dcha 10701 Titan 28 68 18
63/28-2RSC3  Motor Left/lzq oo Titan 28 68 18
28BCSIBNSE2  Motor Right/Dcha  => 2000 1 pranandBros o8 72 18
itany Bros
28BCSIBNSE2  Motor Left/lzq  =>2000 1 pranendBros o8 72 18
itany Bros
T issi ) Titan and Bros
6006-2R5C3  JErSmisn  mignyocha 1985 | Tonabor™ 30 55 13
T issi Titan and Bros
6202-2Z CO Transmission | eft/lzq 21985 1 Titany Bros 15 35 11
6203 C3 Iransmission 1 Titan 17 40 12
T issi Titan and Bros
6204 CO Tramemision! Left/lzq 21985 1 Titany Bros 20 47 14
63012RSC3  Jransmission LRGN 5003-2005 2 Titan 2 37 12
6201-2RSCO  fransmission =>2006 1 Titan 2 32 10
Left/Right  Until 1999 .
6301-2ZC3 Wheel /Rueda |2q/Dcha Hagta 1999 2 Titan 12 37 12
Left/Right
6301-2Z C3 Wheel /Rueda |;q/Dcha  2003-2005 2 Bros 12 37 12
) Until 2000 .
6202-2RSCO  Wheel /Rueda Right/Dcha " <o~ 1 Titan 15 35 11
6202-2RS CO Wheel /Rueda Right/Dcha =>2006 2 Titan 15 35 1N
Until 2000 .
6302-2RSC3  Wheel /Rueda Left/lzq "5 000 1 Titan 15 42 13
6302-2RSC3  Wheel /Rueda aafbers  =>2001 3 Trtan 15 42 13
6203-2RSCO  Wheel /Rueda Right/Dcha 2003 -2005 1 Bros 17 40 12
6203-2RS C3 Wheel /Rueda Right/Dcha =>2006 1 Titan 17 40 12
6303-2RSC3  Wheel /Rueda Right/Dcha 2003-2005 1 Bros 17 47 14
6303-2RS C3 Wheel /Rueda Right/Dcha =>2006 1 Bros 17 47 14

10 pfibearings.com

6001-2RSC3  Motor Right/Dcha  => 2004 1 Titany Bros 2 28 8
35BCO7S58  Motor Left/lzq  =>2004 1 Thonetior®® 35 72 15/185
6202-2RSCO  Motor = 2004 7 e 15 35 1
6003C3 Clutch/Embrague  Right/Dcha  =>2004 1 Titan 17 35 10
6003 C3 Clutch/Embrague  Right/Dcha  => 2006 1 Bros 7 35 10
16003 C3 Clutch/Embrague  Right/Dcha 2003 -2005 1 Bros 7 35 8
6202-2RSC3  Motor ralbeent =>2004 2 Titan 5 35 11
6202-2RSC3  Motor o Best 52006 2 Bros 5 35 11
6201-2RSCO  Jransmission ) oft/lzq  =>2004 1 Titan 232 10
6203 C3 Iransmission  Right/Dcha  => 2004 1 Titan 7 40 12
6204 CO Transmission | eft/lzq  =>2004 1 Titan 20 47 14
6006-2RSC3  Jransmission  pight/Dcha 2003 -2005 1 Bros 30 55 13
6202-2RSCO  Jransmission ) oft/lzq  2003-2005 1 Bros 15 35 1
6204 CO ITransmission | eft/lzq  2003-2305 1 Bros 20 47 14
6201-2RSCO  Jramsmission ) oft/12q  =>2006 1 Bros 2 32 10
6203 C3 Iransmission Right/Dcha  =>2006 1 Bros 17 40 12
6204 CO Iransmission | eft/lzq  =>2006 1 Bros 20 47 14
6301-2RSC3  Wheel /Rueda [sq/bers  =>2004 2 Titan 2 37 12
6301-2RSC3  Wheel /Rueda paafbers’ =>2003 2 Bros 2 37 12
6202-2RSCO  Wheel /Rueda Left/lzq ~ 2004-2015 1 Titan 15 35 11
6302-2RS C3 Wheel /Rueda Right/Dcha 2004 -2015 1 Titan 15 42 13
6004-2RSCO  Wheel /Rueda Left/lzq ~ 2004-2015 1 Titan 20 42 12
pfibearings.com 1



PFI
FERSA

AUTOMOTIVE

Honda

CG150TITAN /CG 150 FAN /NXR 150 BROS XRE 190

" : . ) PFI P/N Application/  Side/ Year/Afio  Quantity/ Notes/
PFI P/N AppllcaF!on/ Side/ Year/ Afio Quantity/  Notes/ Aplicacion Posicion Cantidad Observaciones
Aplicacién Posicion Cantidad Observaciones
Left/Right
6203-2RSC3  Wheel /Rueda Right/Dcha =>2003 1 Bros 7 40 12 35BCO7565NC2  Motor lzq/Dcha 2 35 72 15
6303-2RSC3  Wheel /Rueda Left/lzg  =>2003 1 Bros 7 47 14 6202-2RSC3  Motor ! 5 35 0
> july 2015 6003C3 Clutch/Embrague 1 17 35 10
6302-2RSC3  Wheel /Rueda = julio 2015 1 Titan/Fan/Bros 15 42 13 Transmission
- 6203C3 Issi 1 17 40 12
Transmision
6004-2RSCO  Wheel / Rueda =>june 2015 Titan/Fan/Bros 20 42 12 Transmissi
=>junio 2015 6201-2RS CO Tranemission 1 12 32 10
6202-2RSC3  Wheel / Rueda e ot Titan/Fan/Bros 15 35 11 6304C3 Transmission 1 20 52 15
6202-2RSCO  Wheel /Rueda /bty 2 5 35 11
PCXT50 6203-2RSCO  Wheel / Rued 1 17 40 12
- ee ueda
PFI P/N Applica_tion/ Side;/” Year/Afio Quantity/ Notes/ 6303-2RS C3 Wheel / Rueda 2 17 47 14
Aplicacion Posicion Cantidad Observaciones
6002-2RSCO ~ Jransmission | gt /17 1 15 32 9 CBX 200 STRADA
6902-2RS C3 Motor 1 15 28 7
e PFI P/N Application/  Side/ Year/ Afio  Quantity/ Notes/
T .
6202-2RS CO Transmision Right/Dcha 1 15 35 1 Aplicacién Posicion Cantidad Observaciones
6201C3 Jransmission Right/Dcha 1 2 32 10 15003 C3 Clutch/Embrague 1 7 35 8
Tramemice ‘
6205-2RSCO  qinclicien’  Right/Deha 1 25 52 15 28BCSIBNSE2  Motor Right/Dcha 1 28 72 18
6207-2RSC3  Motor i fbepnt unt2oie -, 3 72 17 35BCO7S65NC2  Motor Left/lzq 1 3 72 15
; _ Transmission
35BCO7S65NC2  Motor malbent 207 2 3 72 15 6202-2RSCO  Transmision  Left/Iza 1 o3
Transmission :
6204-2RSCO  Wheel /Rueda  Left/Izq 1 20 47 14 6202-2RSCO  Tpangmision  Right/Dcha 1 15 35 1
- Tramemics ‘
6301-2RSC3  Jransmission | oft/lzq i 2 37 12 6004-2RSCO  fiindmision  Right/Dcha L 20 42 12
sic Tramemiesi
6004-2RSCO  {ARSTisIon  Right/Deha 1 20 42 12 6204 CO Tranemisien . Left/lzq 1 20 47 14
6201-2RSCO  Wheel /Rueda  [/bars. 2 2 32 10 6301-2RSC3  Wheel /Rueda 2 2 37 12
6203-2RS CO Wheel / Rueda 1 7 40 12 6203-2RS C3 Wheel / Rueda 1 17 40 12
6301-2RS C3 Wheel / Rueda 1 2 37 12
CG160TITANICG160 FANINXR160 BROSICG 160 START
PFI P/N Application/  Side/ Year/  Quantity/ Notes/ XRF 230F

Posicién Afo Cantidad  Observaciones

Aplicacién

PFI P/N Application/  Side/ Year/Afio  Quantity/ Notes/
35BCO7S65NC2 Motor Left/lzq 1 Bros /Fan /Titan/Start 35 72 15 Aplicacién Posicion Cantidad Observaciones
6003C3 Clutch/Embrague 1 17 35 10 16003 C3 Clutch/Embrague 1 7 35 8
6203 C3 Hgﬂ:m::f&%ﬂ 1 17 40 12 6203-2RS C3 Wheel /Rueda Left/lzq 1 17 40 12
6201-2RS CO Hgﬂ:m:;solc%n 1 2 32 10 6303-2RS C3 Wheel / Rueda Eii:]t/Rl.)c:f 1 17 47 14
6304 C3 Transmission : 20 52 15 6202-2RSCO  Wheel /Rueda sq/bers 2 15 35 11
6202-2RSCO  Motor 2 15 35 11 6204 €0 Tranemison  Left/lzq ! 20 47 14
6301-2RS C3 Wheel / Rueda 2 2 37 12 6202-2RSCO  fransmission L eft/Izq 1 15 35 1
6302-2RS C3 Wheel / Rueda 1 Bros/Fan/Titan /Start 15 42 13 6207-2RS C3 Motor Left/lzq 1 35 72 17
6004-2RS CO Wheel / Rueda 1 Bros/Fan/Titan/Start 20 42 12 28BCSI8NSE2 Motor Right/Dcha 1 28 72 18
6202-2RS C3 Wheel / Rueda 1 Bros/Fan/Titan/Start 15 35 1

pfibearings.com

pfibearings.com



CBX250 TWISTER / XR 250 TOR-

PFI
FERSA

AUTOMOTIVE

Honda

CRF 230F
PFI P/N Application/  Side/ Year/ Afio Quantity/  Notes/

Aplicacién Posicion Cantidad  Observaciones

16003 C3 Clutch/Embrague 1 77 35 8
6203-2RSC3  Wheel /Rueda Left/Izq 1 17 40 12
6303-2RS C3 Wheel /Rueda Right/Dcha 1 17 47 14
6202-2RSCO  Wheel /Rueda s bern’ 2 5 35 11
6204 CO Transmission | eft/Izq 2 20 47 14
6202-2RSCO  Jransmission ) oty /17 1 15 35 1
6207-2RS C3 Motor Left/Izq 1 35 72 17
28BCSIBNSE2  Motor Right/Dcha 1 28 72 18

XLX250R
PFI P/N Application/  Side/ Year/ Afio Quantity/  Notes/

Aplicacién Posicion Cantidad  Observaciones

6204-2RSCO  Wheel / Rueda 1 Ring gear/ 20 47 14
6202-2RSCO  Wheel / Rueda 2 15 35 1
6203-2RSC3  Wheel / Rueda 2 7 40 12
6301-2RSC3  Motor Right/Dcha 1 12 37 12
6302-2RSC3  Motor Left/Izq 1 15 42 13
6904-2RSC3  Motor Left/Izq 1 20 37 9
6904-2RSC3  Motor Right/Dcha 1 20 37 9
62/22-2R$3C  Jransmission | gft/|zq 1 22 50 14
6304 C3 Transmission  Right/Dcha 1 20 52 15
6203 Iransmission Right/Dcha 1 17 40 12
6203-2RSC3  [ransmission 1 17 40 12

Transmision

CBX250 TWISTER / XR 250 TORNADO

14

CB300R

PFI P/N Application/  Side/ Year/ Afio Quantity/  Notes/
Aplicacién Posicion Cantidad  Observaciones

6203-2RSCO  Wheel /Rueda sq/bers 2015 3 Twister 7 40 12
6204-2RS CO Wheel /Rueda Left/lzq 2001-2008 1 Twister 20 47 14
6204-2RS CO Wheel /Rueda Left/lzqg 2009 1 Twister 20 47 14
6203-2RS C3 Wheel /Rueda Right/Dcha 2001-2008 1 Tornado 17 40 12
6203-2RS C3 Wheel /Rueda Right/Dcha 2009 1 Tornado 177 40 12
6204-2RS CO Wheel /Rueda Left/lzqg 2009 1 Tornado 20 47 14
6204-2RS CO Wheel /Rueda Left/lzg 2001-2008 1 Tornado 20 47 14

PFI P/N Application/  Side/ Year/ Ao Quantity/  Notes/

Aplicacion Posicion Cantidad ~ Observaciones
6001-2RSC3  Motor Right/Dcha 2015 2 Twister / Tornado 12 28 8
6202-2RSCO  Jransmission | oft/l,q  2001-2008 1 Twister/Tornado 15 35 11
6202-2RSCO  Fransmission | oft/1,q 2015 1 Twister/Tornado 15 35 11
6204 CO Transmission  Right/Dcha  2001-2008 1 Twister /Tornado 20 47 14
62/22-2RS3C  Jransmission  pight/Deha 2001-2008 1 Twister /Tornado 22 50 14
63/22XA4J1  Jransmission  pight/Deha 2015 1 Twister /Tornado 22 56 16
6304 C3 Motor 2015 1 Twister 20 52 15
6304 C3 Transmission | eft/lzq 2015 1 Twister /Tornado 20 52 15
6203-2R$C3  Jransmission | o/, 2015 1 Twister /Tornado 17 40 12
6905-2RS C3  Jransmission 2015 1 Twister /Torado 25 42 9
6903-2RSC3  Clutch/Embrague  Right/Dcha  2001-2008 1 Twister / Tornado 17 30 7
6001-2RSC3  Clutch/Embrague 2015 1 Twister /Tornado 12 28 8
6002 C3 o bt 2001-2008 2 Twister 5 32 9
6202-2RSCO  qumbension BRI 2015 2 Twister 5 35 i
6302-2RSCO  Wheel/Rueda |ibass’  2001-2008 2 Twister 15 42 13
6202-2RSCO  Wheel /Rueda |rajbets’ 2001-2008 2 Tornado 5 35 1
6202-2RSCO  Wheel /Rueda | fbes’ 2009 2 Tornado 5 35 11
6203-2RSC3  Wheel /Rueda |ibass.  2001-2008 3 Twister 7 40 12
6303-2RSCO  Wheel/Rueda |aibets’ 2009 1 7 47 14
PFI P/N Application/  Side/ Year/ Afio Quantity/  Notes/

Aplicacion Posicion Cantidad  Observaciones

6000-2RS CO Motor Left/lzq 1 10 26 8
6302-2RSCO  Wheel /Rueda safbets. 2 15 42 13
6203-2RS CO Wheel / Rueda Right/Dcha 1 17 40 12
6203-2RSCO  Wheel /Rueda Left/lzq 2 7 40 12
6204-2RSCO  Wheel /Rueda Right/Dcha 1 20 47 14
6202-2RSCO  uPeN*o"  Right/Deha 2 15 35 1
6903-2RSC3  Clutch/Embrague 1 7 30 7
6202-2RSCO  Jransmission | gty /17q 1 15 35 11
6204 CO Transmission  Right/Dcha 1 20 47 14
62/22-2R$3C  fransmission | gty /|7q 1 22 50 14

pfibearings.com

pfibearings.com

15



Honda
XLX350R
PFI P/N Application/  Side/ Year/ Afio Quantity/  Notes/
Aplicacién Posicion Cantidad  Observaciones
6204-2RS CO Wheel / Rueda 1 20 47 14
6202-2RS CO Wheel / Rueda 2 15 35 1N
6203-2RS C3 Wheel / Rueda 2 177 40 12
6203-2RSC3  {ransmission 1 17 40 12
6304 C3 Transmission 1 20 52 15
XRE 300
PFI P/N Application/  Side/ Year/ Afio Quantity/  Notes/
Aplicacién Posicion Cantidad  Observaciones
6000-2RS CO Motor Left/Izq 1 10 26 8
6203-2RSC3  Wheel /Rueda sa/bern’ 2 7 40 12
6204-2RS CO Wheel / Rueda 1 20 47 14
Left/Right
6202-2RS CO Wheel /Rueda  |,q/Dcha 2 15 35 N
6903-2RS C3 Clutch/Embrague  Right/Dcha 1 17 30 7
6204 CO Transmission Right/Dcha 1 20 47 14
6202-2RSCO  Jransmission | ot /17q 1 15 35 11
62/22-2RS3C  Jransmission | oft/17q 1 22 50 14

NX4 FALCON 400

PFI P/N

Application/

Aplicacion

Side/ Year/ Afio
Posicion

Left/Right

Quantity/
Cantidad

Notes/
Observaciones

6203-2RS C3 Wheel /Rueda  |;q/Dcha 2 17 40 12
6204-2RSCO  Wheel /Rueda Right/Dcha 1 20 47 14
6202-2RSCO  Wheel /Rueda xa/bern’ 2 15 35 11
6302-2RSC3  Motor Left/lIzq 1 15 42 13
6904-2RS C3 Motor Left/Izq 1 20 37 9
6000-2RSCO  Motor Left/Izq 1 10 26 8
6203 Transmission | oft/Izq 1 17 40 12
62/22-2RS3C  Jransmission  pight/Deha 1 22 50 14
6903-2RS C3 Clutch/Embrague 1 17 30 7

16 pfibearings.com

PFI

FERSA

AUTOMOTIVE

CB 500X
PFI P/N Application/  Side/ Year/ Afio Quantity/  Notes/
Aplicacién Posicion Cantidad  Observaciones

6200-2RS C3 Clutch/Embrague 1 10 30 9

6302-2RS CO Wheel / Rueda 2 15 42 13
6204-2RS CO Wheel / Rueda 1 20 47 14
6303-2RS CO Wheel / Rueda 2 17 47 14
6203-2RSC3  Jransmission 1 17 40 12
16005 izl i 25 47 8

6202-2RSCO  gusbenssion 2 15 35

Suspension

pfibearings.com

17



Yamaha

TIN5 E-CRYPTON

PFI P/N Application/  Side/ Year/ Afio Quantity/  Notes/

Aplicacién Posicion Cantidad  Observaciones
6204 CO Transmission  Right/Deha  =>2010 1 20 47 14
6002 C3 Transmission =>2010 1 15 32 9
6202-2RSC3  Motor => 2010 2 15 35 1
6003 C3 Motor 1 17 35 10
6204cO  Jamemsion SRS 1 20 47 14
6300-2RSC3  Wheel /Rueda [iben’  =>2010 2 10 35 11
6301-2RS C3 Wheel /Rueda Left/lzq =>2010 2 12 37 12
6004-2RSCO  Wheel / Rueda =>2010 1 Ringgearside 20 42 12

TIN5 NEO

PFI P/N Application/  Side/ Year/ Afio Quantity/  Notes/

Aplicacién Posicion Cantidad  Observaciones
6203 Clutch/Embrague  Right/Dcha  =>2006 1 17 40 12
6002-7ZCO  Motor Left/lzq  =>2006 1 15 32 9
6904-2RSC3  Motor Right/Dcha  => 2006 1 20 37 9
6301-2RSC3  Jransmission  pight/Deha =>2006 1 2 37 12
6004-2RSCO  Jransmission ) oft/jzq  =>2006 1 20 42 12

issi Left/Right
6203 Jransmission  /Dcha =>2006 1 17 40 12
6300-2RSC3  Wheel / Rueda =>2006 2 10 35 1
6004-2RSCO  Wheel / Rueda =>2006 1 20 42 12
6301-2RSC3  Wheel/Rueda Left/lzq  =>2006 1 12 37 12
6302-2RS C3 2322222?3%” =>2006 1 15 42 13
YBR 125 / XTZ125

PFI P/N Application/  Side/ Year/ Afio Quantity/  Notes/

Aplicacion Posicion Cantidad  Observaciones
6002-2Z CO Motor Left/lzg  Todos 1 YBREXTZ 5 32 9
6003 C3 Motor Left/lzg  Todos 1 YBREXTZ 177 35 10
6205 NCC3 Motor Right/Dcha  Todos 1 YBREXTZ 25 52 15
6203 C3 Motor Left/lzqg  Todos 2 YBREXTZ 17 40 12
6201C3 Transmission Right/Dcha  Todos 1 YBREXTZ 2 32 10
6203 Jransmission Right/Dcha  Todos 1 YBREXTZ 17 40 12

Until/Au-

T issi gust/2007

6202-2Z CO Tanemiaon  Left/lzg B S 1 YBREXTZ 15 35 11
to/2007

6204CO Transmission LR/ Todos 1 YBREXTZ 20 47 14

18 pfibearings.com

PFI

FERSA

AUTOMOTIVE

YBR 125/ XTZ125
PFI P/N Application/  Side/ Year/ Aio Quantity/  Notes/
Aplicacién Posicion Cantidad  Observaciones

6202-2RSCO  Wheel /Rueda [fbesn’ =>2009 2 YBR (aluminio) 15 35 11
6301-7ZC3  Wheel [Rueda pafbers Todos 2 YBR (conradios) 12 37 12
6202-2RS CO Wheel / Rueda Right/Dcha Todos 2 YBR(conradios) 15 35 11
6202-2RS CO Wheel /Rueda Left/lzq  Todos 1 YBR 15 35 1
6202-22CO Wheel /Rueda Left/lzq  Todos 1 YBR 15 35 11
6004-2RS CO Wheel / Rueda Right/Dcha Todos 1 YBR (Ringgear) 20 42 12
6202-22CO Wheel /Rueda Left/lzq  Todos 1 XTZ (laced) 15 35 11
6302-ZZCO Wheel / Rueda Todos 1 XTZ (laced) 15 42 13

TTR125

PFI P/N

Application/
Aplicacién

Side/
Posicién

Year/ Afio Quantity/

Cantidad

Notes/
Observaciones

6001-2RS C3 Wheel / Rueda 2 12 28 8
6002-2Z CO Motor 1 15 32 9
6003 C3 Motor 1 17 35 10
6203 Trensmssion 1 voa0 12
6204 CO Transmission 1 20 47 14
6205NCC3 Motor 1 25 B2 15
6301-2RS C3 Wheel / Rueda 2 12 37 12
6303-2RS C3 Wheel / Rueda 2 17 47 14
TTR 230
PFI P/N Application/  Side/ Year/ Afio Quantity/  Notes/
Aplicacién Posicion Cantidad  Observaciones

6202-2RS CO Wheel / Rueda 2 30SB /B68A 15 35 11
6302-2RS CO Wheel / Rueda 1 30SB /B68A 15 42 13

YS 250 FAZER - XTZ 250 LANDER / XTZ 250 TENERE 250

PFI P/N

Application/

Aplicacién

Side/
Posicion

Year/ Afio Quantity/

Cantidad

Notes/
Observaciones

Fazer and Lander

6302-2RSC3  Motor Right/Dcha 2006-2011 2 i 15 42 13
azery Lander

6005-2RSC3  Motor Left/lzq  2006-2011 1 rozerandlander 25 47 12
azery Lander
Fazerand Lander

6202-72CO  Motor 2006-201 1 15 35 11

Fazery Lander

pfibearings.com

19



Yamaha

YS250 FAZER - XTZ 250 LANDER /
XTZ250 TENERE 250

PFI P/N

Application/

Aplicacionw

Side/ Year/ Afio
Posicion

Quantity/
Cantidad

Notes/
Observaciones

Fazer, Lander and Ténéré

62/22_2RS 3C Hgggm:;sg%n 1 Fazer, Landery Ténér 22 50 14
6203-2RSC3 Ry 1 e bndeyoae 740 12
6205-2RSCO RSN Right/Deha 1 Farer LnderyTeners . 25 5215
6302-2RS CO Wheel /Rueda Left/lzq 1 Fazer 15 42 13
Left/Right
6202-2RSCO  Wheel /Rueda |zq/Deta  2006-2010 1 Fazer 15 35 11
6202-2RSCO  Wheel /Rueda safbers 20T 2 NovaFazer 15 35 1i
6202-2RSCO  Wheel /Rueda aabers 2007-2010 2 Lander 5 35 11
6202-2RSCO  Wheel /[Rueda Left/lzq  2006-2011 2 e are’© 15 3511
6004-2RSCO  Wheel /Rueda Right/Dcha  2006-2011 1 g::(:)r(ng 20 42 12
6202-2RSCO  Wheel /[Rueda Left/lzq  2007-2010 1 o oo™ 15 35 11
6302-2RSCO  Wheel / Rueda 2007-2010 1 oo™ 15 42 13
MTO3 320

PFI P/N

6203-2RS CO

Application/

Aplicaciénw

Wheel / Rueda

Side/ Year/ Afio
Posicion

Quantity/
Cantidad

Notes/
Observaciones

BO72/B093

17

40

6302-2RS CO

Wheel / Rueda

BO72 /B0O93

15

42

XT 600

PFI P/N

Application/

Aplicacién

Side/ Year/ Afio
Posicion

Quantity/
Cantidad

Notes/
Observaciones

6202-2RS CO Wheel / Rueda 2 15 35 M

6304-2RS C3 Wheel / Rueda 1 20 52 15

6303-2RS C3 Wheel / Rueda 2 17 47 14
XJ6N 600

PFI P/N

6303-2RS CO

Application/

Aplicaciénw

Wheel / Rueda

Side/ Year/ Afio
Posicién

Quantity/
Cantidad

Notes/
Observaciones

17

47

20 pfibearings.com

Suzuki

RM 80

PFI P/N

Application/  Side/
Posicion

Year/ Afio

Aplicacionw

Quantity/
Cantidad

Notes/
Observaciones

PFI
FERSA

AUTOMOTIVE

6201-2RSC3  Wheel / Rueda 1 2 32 10
6002-2RSC3  Wheel / Rueda 1 15 32 9
6202-2RSC3  Jransmission 2 15 35 11

ADDRESS V100
PFI P/N Application/  Side/ Year/ Afio Quantity/  Notes/

Aplicaciéonw  Posicion Cantidad  Observaciones
6200-2RSC3  Wheel / Rueda 2 10 30 9
6201C3 Transmission Right/Dcha 1 12 32 10
6303-2RSC3  Jransmission ) oty /17 1 7 47 14
6203 Transmission | eft/Izq 1 17 40 12
6204-2RSCO  Jransmission  pight/Deha 20 47 14

GN 125 INTRUDER

PFI P/N Application/  Side/ Year/ Afio Quantity/  Notes/
Aplicacionw  Posicion Cantidad  Observaciones

6302-2RS C3 Motor 2 15 42 13
6301-2RS C3 Wheel / Rueda 2 12 37 12
6204-2RSC3  Wheel /Rueda ginggear/ 1 20 47 14
6204-2RS C3 Wheel / Rueda -> 2016 2 20 47 14
6202-2RS C3 Wheel / Rueda 1 15 35 1
6302-2RS C3 Wheel / Rueda 1 15 42 13

YES 125

PFI P/N

Application/ Side/
Posicion

Year/ Afio

Aplicacionw

Quantity/
Cantidad

Notes/
Observaciones

6204-2RSC3  Wheel /Rueda Singgear/ 1 20 47 14
6301-2RSC3  Wheel / Rueda 2 2 37 12
6202-2RS C3 Wheel / Rueda 1 15 35 N
6302-2RSC3  Wheel / Rueda 1 15 42 13

pfibearings.com 21



Suzuki
INTRUDER 250
PFI P/N Application/  Side/ Year/ Afio Quantity/  Notes/
Aplicacion Posicion Cantidad  Observaciones
6302-2RS C3 Wheel / Rueda 2 15 42 13
6202-2RS C3 Wheel / Rueda 1 15 35 M
DRZ 400E
PFI P/N Application/  Side/ Year/ Afio Quantity/  Notes/
Aplicacién Posicion Cantidad  Observaciones
Ri
6204-2RSC3  Wheel /Rueda gndgear/ 1 20 47 14
6004-2RS C3 Wheel / Rueda 2 20 42 12
AN400 BURGMAN
PFI P/N Application/  Side/ Year/ Afio Quantity/  Notes/
Aplicacién Posicion Cantidad  Observaciones
6202-2RS C3 Wheel / Rueda 1 15 35 1
GS500E
PFI P/N Application/  Side/ Year/ Afio Quantity/  Notes/
Aplicacién Posicion Cantidad  Observaciones
Ri
6305-2RSC3  Wheel /Rueda gndgear/ 1 25 62 17
6303-2RS C3 Wheel / Rueda 2 17 47 14
6302-2RS C3 Wheel / Rueda 2 15 42 13
GSX 650F
PFI P/N Application/  Side/ Year/ Afio Quantity/  Notes/
Aplicacién Posicion Cantidad  Observaciones
Ri
6305-2RS C3 Wheel / Rueda Clgr%ggar/ 1 25 62 17
Ri
6204-2RSC3  Wheel /Rueda fndgear/ 1 20 47 14
GSX750F
PFI P/N Application/  Side/ Year/ Afio Quantity/  Notes/
Aplicacion Posicion Cantidad  Observaciones
6203-2RS C3 Wheel / Rueda 2 17 40 12
6303-2RSC3  Wheel /Rueda gndgear/ 1 17 47 14
6205-2RS CO Wheel / Rueda 2 25 52 15

22 pfibearings.com

PFI
FERSA

AUTOMOTIVE

VZ 800
PFI P/N Application/  Side/ Year/ Afio Quantity/  Notes/
Aplicacion Posicion Cantidad  Observaciones
6203-2RS C3 Wheel / Rueda 1 17 40 12
Ri
6303-2RS C3 Wheel / Rueda ngr%ggar/ 2 17 47 14
GSX R1000
PFI P/N Application/  Side/ Year/ Afio Quantity/  Notes/
Aplicacién Posicion Cantidad  Observaciones
6205-2RS C3 Wheel / Rueda 2 25 52 15
6000-2RSCO  Motor 1 10 26 8
6001-2RS C3 Motor 1 12 28 8
T -
16005 Trensmison 1 25 a7 6
62/32-2RSC3  Wheel /Rueda 1 22 56 16

N1200 BANDIT

PFI P/N

Application/ Side/
Aplicacién Posicion

Year/ Afio

Quantity/
Cantidad

Notes/
Observaciones

6204-2RS C3

Wheel / Rueda

47 14

LC 1500 INTRUDER

PFI P/N

Application/ Side/
Aplicacion Posicion

Year/ Afio

Quantity/
Cantidad

Notes/
Observaciones

6205-2RS C3

Wheel / Rueda

52 15

VZR 1800 INTRUDER

PFI P/N Application/ Side/ Year/ Afio Quantity/  Notes/
Aplicacién Posicion Cantidad  Observaciones
6305-2RS CO Motor 25 62 17
16005 Jransmission | eft/Izq 25 47 8
63/28C3 Wheel / Rueda 28 68 18
Propulsion shaft
6205-7Z2CO Eje de propulsion 2 25 52 15
Brake disc/
6205-7272 C3 Wheel / Rueda Disco de freno 25 52 15

pfibearings.com

23



Suzuki
AGILITY 200i
PFI P/N Application/  Side/ Year/ Afio Quantity/  Notes/
Aplicacion Posicion Cantidad  Observaciones
6203-2Z C3 égzggzzfgz“ 1 17 40 12
6301-2RS C3 Wheel / Rueda 2 12 37 12
DOWNTOWN 3001
PFI P/N Application/  Side/ Year/ Afio Quantity/  Notes/
Aplicacion Posicion Cantidad  Observaciones
6304 C3 Motor 1 20 52 15
6205 CO Motor 1 25 52 15
6202-2RS CO Wheel / Rueda 2 15 35 1
6204-2RSCO  guebenssion 1 20 47 14
PEOPLE 3001
PFI P/N Application/  Side/ Year/ Afio Quantity/  Notes/
Aplicacién Posicion Cantidad  Observaciones
6204 CO égzggngg‘;” 1 20 47 14
6005-2RS C3 Motor 1 25 47 12
6205-2RS CO Motor 1 25 52 15
6302-2RS C3 Motor 2 15 42 13
6002-2RS CO Wheel / Rueda 2 15 32 9
6205 CO Transmission 1 25 52 15
6302-2RSC3  Jransmission 1 15 42 13
6304 C3 Transmission 1 20 52 15
6902-2RS C3 Clutch/Embrague 1 15 28 7

NEX110

PFI P/N

Application/ Side/
Posicion

Year/ Afio

Aplicacion

Transmission

Quantity/
Cantidad

Notes/
Observaciones

6203 Transmision 1 17 40 12
6001-2RSC3  Jransmission 1 12 28 8
6301-2RS C3 Wheel / Rueda 1 12 37 12
6203-ZZ2C3 Wheel / Rueda 1 17 40 12

24 pfibearings.com

PFI
FERSA

AUTOMOTIVE

LINDY 125
PFI P/N Application/  Side/ Year/ Afio Quantity/  Notes/
Aplicacién Posicion Cantidad  Observaciones

6202-2RS CO Motor 1 15 35 1

6001-2RS C3 Motor 1 12 28 8

6201C3 Motor 1 12 32 10
6203 Jransmison 1 v o0 w2
6204 CO Jransmission 1 20 47 14
6905-2RS C3 Motor 1 25 42 9

6200-2RS C3 Wheel / Rueda 2 10 30 9

CHOPPER ROAD
PFI P/N Application/  Side/ Year/ Afio Quantity/  Notes/
Aplicacion Posicion Cantidad  Observaciones

6301-2RS C3 Motor 1 12 37 12
6203 Motor 1 17 40 12
6006-2RSC3  Jransmission 1 30 55 13
6204 CO Jransmission 1 20 47 14
6301-2RS C3 Wheel / Rueda 2 12 37 12
6202-2ZC3 Wheel / Rueda 1 15 35 1

6302-2RS C3 Wheel / Rueda 1 15 42 13

Ri
6204-2RSCO  Wheel /Rueda Rindgear/ 1 20 47 14

pfibearings.com

25



Kawasaki

SCOOTER J125

PFI P/N

Application/

Aplicacién

Transmission

Side/ Year/ Afio
Posicion

Quantity/
Cantidad

Notes/
Observaciones

6303-2RSC3  Jransmissiol 1 17 47 14
- -
6202-2RSCO  qyanemesion 1 15 35 1
6205-2RS CO Motor 1 25 B2 15
6002 C3 Motor 1 5 32 9
6203 Motor 1 17 40 12
6002-2RS CO Wheel / Rueda 2 5 32 9
Suspenssion
6204 CO 3uspension 1 20 47 14
LX 140 CROSSOVER
PFI P/N Application/  Side/ Year/ Afio Quantity/  Notes/
Aplicacion Posicion Cantidad  Observaciones
6005-2RS C3 Wheel / Rueda 1 25 47 12
6201-2RS C3 Clutch/Embrague 1 12 32 10
6000-2RS CO Motor 1 10 26 8
6003C3 Motor 1 17 35 10
EX300 NINJA
PFI P/N Application/  Side/ Year/ Afio Quantity/  Notes/
Aplicacién Posicion Cantidad  Observaciones
6001-2RS C3 Clutch/Embrague 1 12 28 8
6202-2RS CO Wheel / Rueda 2 15 35 11
6203-2RSC3  Wheel / Rueda 1 Ringgearside 17 40 12
6205 C3 Wheel / Rueda 1 Ringgearside 25 52 15
6303-2RS C3 Wheel / Rueda 1 17 47 14

ER300

PFI P/N

6001-2RS C3

Application/
Aplicacién

Clutch/Embrague

Side/ Year/ Afio
Posicion

Quantity/
Cantidad

Notes/
Observaciones

28

LE 300

PFI P/N

6001-2RS C3

Application/
Aplicacién

Clutch/Embrague

Side/ Year/ Afio
Posicion

Quantity/
Cantidad

Notes/
Observaciones

28

26 pfibearings.com

PFI
FERSA

AUTOMOTIVE

ER 650 NINJA
PFI P/N Application/  Side/ Year/ Afio Quantity/  Notes/
Aplicacién Posicion Cantidad  Observaciones
Tranermicei
6305-2RSCO  qyansission 2 25 62 17
6805-2RSC3  Clutch/Embrague 1 25 37 7
Suspenssion
6004-2RSCO  Zshension 1 20 42 12
6004-2RS CO Wheel / Rueda 2 20 42 12
6205-2RSCO  Wheel /Rueda Ringgear/ 1 25 52 15
6204-2RSCO  Wheel /Rueda zafbern’ 2 20 47 14

VULCAN EN 650

PFI P/N Application/  Side/ Year/ Afio Quantity/  Notes/

Aplicacién Posicion Cantidad  Observaciones
6001-2RS C3 Clutch/Embrague 1 12 28 8
6305-2RSCO  Jransmission 1 25 62 17
6805-2RSC3  Jransmission 1 25 37 7
6004-2RSCO  Zusbenssion 1 20 42 12
6004-2RS C3 Wheel / Rueda 2 20 42 12

pfibearings.com

27



PFI
FERSA

Spain| Austria | China | India | USA | Brazil | Mexico | Colombia
Chile | Bolivia | Argentina | Netherlands | Australia | Kenya pfibearings.com



